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Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 48

Section A (40 marks) 
 
The value of the digit 3 in 43 589 _____

A) 30

B) 300

C) 3000

D) 30 000

Question 2 of 48

22 758 rounded to the nearest hundred is ___

A) 22 700

B) 22 760

C) 22 800

D) 23 000

Question 3 of 48

How many one-sixths are there in 2 wholes?

A) 1/3

B) 6

C) 3

D) 12
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Question 4 of 48

A)

B)

C)

D)

Question 5 of 48

A) a

B) b

C) c

D) d
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Question 6 of 48

In the number 56.21, the digit ___ is in the tenths place.

A) 1

B) 2

C) 5

D) 6

Question 7 of 48

Which of the following is a multiple of 8?

A) 32

B) 26

C) 18

D) 4

Question 8 of 48

Jeremy began his Mathematics lesson at 19 45. He finished the lesson at 20 20. How long
was his lesson?

A) 35 min

B) 55 min

C) 75 min

D) 85 min

Question 9 of 48

Andrew had some mangoes. He bought another 85 mangoes. He then packed all the
mangoes into 14 bags. There were exactly 16 mangoes in each bag. How many mangoes
did Andrew have at first?

A) 115

B) 139

C) 224

D) 309
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A) Library

B) playground

C) food centre

D) club house
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A) Q

B) R

C) S

D) T
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A) 40

B) 50

C) 60

D) 70
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Question 13 of 48

A) 5 CM

B) 8CM

C) 20CM

D) 28CM

Question 14 of 48

A) 54cm2

B) 108cm2

C) 162cm2

D) 216cm2

Question 15 of 48

The area of a rectangle is 144cm2. Its breadth is 9cm. What is its perimeter?

A) 16cm

B) 25cm

C) 3cm

D) 50cm
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Question 16 of 48

0.06 x 4 = ____ x 2 
 
What is the missing number?

A) 1.2

B) 2.4

C) 0.12

D) 0.24

Question 17 of 48

Juliet wants to buy 7 similar dolls. However she needs another $11.40 in order to buy all 7.
She then decides to buy 3 dolls instead and has $20.20 left after that. What is the cost of
each doll?

A) $0.88

B) $3.16

C) $7.90

D) $8.80

Question 18 of 48

Elyn is allowed to play games on the computer for 50minutes after she has completed her
homework. If she started playing at 7.55pm, what time did she have to stop?

A) 7.05pm

B) 8.45am

C) 8.05pm

D) 8.45pm

Question 19 of 48

Minah has a collection of coins. When she puts them in stacks of three or fours, she has 2
coins left over each time. When she puts them in stacks of twos, she has no coin left over.
What is the smallest number of coins that Minah has?

A) 12

B) 14

C) 24

D) 26
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Question 20 of 48

In which of the letters shown, is the dotted line a line of symmetry?

A)

B)

C)

D)

Question 21 of 48

Section B (30marks) 
 
What is the missing number?
 
5537/9 = 91 + ___
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Question 22 of 48

Please type "done" to proceed to the next question

Question 23 of 48

___h___min
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Question 24 of 48

Question 25 of 48

How many students are there in Primary 4D?

Question 26 of 48

The length of a rectangle is 13cm. Its breadth is 4cm shorter. Find its area.
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Question 29 of 48

Question 30 of 48

How many more mint cookies than chocolate cookies were sold for the four days?

Question 31 of 48

Write twelve thousand, four hundred and ten in figures.

Question 32 of 48

What is the remainde when 1036 is divided by 8?
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Question 33 of 48

Some factors of 24 are 1, 2, 4, 8 ,12 and 24. What are the other two factors of 24? 
 
____, ____

Question 34 of 48

Question 35 of 48
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Question 36 of 48

Question 37 of 48

Question 38 of 48
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Question 39 of 48

Find the value of 4.63 x 7

Question 40 of 48

Please type "done" to proceed to the next question
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Section C (30marks) 



3 ptsPrimary 4 Math (Term 4)

4 ptsPrimary 4 Math (Term 4)

4 ptsPrimary 4 Math (Term 4)

4 ptsPrimary 4 Math (Term 4)

Question 42 of 48

Question 43 of 48

There is a total of 40.5 litres of water in 2 buckets and 3 pails. Two buckets and five pails
contain 48.8 litres of water. How many litres of water are there in the two buckets?

Question 44 of 48

Pole A is four times as long as pole B. 
Pole B is 0.18m longer than pole C. 
The total length of the three poles is 3.3m. What is the length of pole C?

Question 45 of 48
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Question 46 of 48

John had $200 more than Cheryl. After Cheryl spent $70, John had four times as much
money as What Cheryl had left. How much did John have?

Question 47 of 48
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